%ﬁ

Reg. No. : FY_83 |

Name :

IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — 111 Time : 2 Hours
ELECTRONICS Cool-off time : 15 Minutes

Maximum : 60 Scores

-

General Instructions to Candidates :

fl3§03001203:96)8383 6)a100))MIBEGUsBI3 :

~
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Read questions carefully before answering.
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Malayalam version of the questions is also provided.

Give equations wherever necessary.
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Answer all questions from 1 to 10. Each carries 1 score. (10 x 1 =10)

Draw the symbol of resistor.

Unit of current is

(Volt, Ampere, Ohms)

The forbidden energy gap of Si is
(a) 0.7eV

() 03V

Select the symbol of NPN transistor.

(a)

© —>

is used to detect light.
(a) Photo diode

(¢) Inductor

Ripple factor of a half wave rectifier is

(@ 121

(c) 812

(b)
(d)

(b)

(d)

(b)
(d)

(b)
(d)

is known as universal biasing circuit.
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8. Cutin voltage of a Si PN junction diode is

(a) 07V (b) 03V

) 1V (d 01V
9.  An RC Oscillator has RC sections.

(a 1 (b) 2

() 3 (d 4

10. The base of binary number system is

(a) 10 (b) 8
(c) 16 (d 2
Answer any 6 questions from 11 to 19. Each carries 2 scores. (6x2=12)

11. A resistor has a colour band sequence red, red, red and gold. Calculate the resistance

value of this resistor.

12.  Semiconductor acts as insulator at absolute zero temperature. Explain.

13.  Zener diodes are used to operate in reverse biased condition.
(a) Draw the symbol of a zener diode. 1)

(b) Write any application of zener diode. 1)

14. Draw the circuit diagram of CE configuration.

15. Draw the structure of SCR.
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10.

11.

12.

13.

14.

15.

v
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Write any two difference between FET & BJT.

Draw the circuit diagram of a half wave rectifier.

Write the barkhausen criterion for sustained oscillation.

Compare damped and undamped oscillations.

Answer any 6 questions from 20 to 29. Each carries 3 scores. (6 x3=18)

Write the formula for calculating capacitance of a capacitor. Also mention the factors

affecting capacitance of a capacitor.

Explain the following terms :

(a) Cycle §))
(b) Time period 1)
(c) Frequency 1)

Classify solids based on energy band diagram.

Draw the VI characteristics of a PN junction diode.

Explain the process results in formation of depletion region in a PN junction.

Compare the features of emitter, base and collector.
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17.

18.

19.

20.

21.

22.

23.

24.

25.
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26. Draw the circuit diagram of a RC coupled amplifier.

27. Convert the binary number 101.11 into decimal number system.

28. Draw the circuit diagram of an inverting amplifier using op-amp. Also write the

equation for gain of the inverting amplifier.

29. (a) A galvanometer can be converted into a voltmeter by connecting in
series. 1)
(b) Draw the connection diagram of galvanometer as a voltmeter. 2)
Answer any S questions from 30 to 37. Each carries 4 scores. (5x4=20)

30. Find the total current flowing through the circuit shown below and the current through

each of the resistors.

10 Q)
— AAA—
50
AAAA
10Q
L AAAA—
1 [
< 1
10V

31. Draw the characteristics of Common Emitter (CE) transistor configuration.

32. Rectifiers are used to convert AC to DC. Draw the circuit and input, output waveforms

of centre-tap full wave rectifier.

FY-831 8



26.

27.

28.

29.

30.

31.

32.

830} RC daflidaw @yogflan@dland avdasils alom)d.

101.11 agyam eemimdl mmudinnd @om)e!no awalacs MMIG @EMENHIHN)H.

$30aoeni  0alcwIUfla) 38  MeaIdSy)  GRgflan@dlond VAT QIEW)H:.
gDMEAIBSlow) @RYog flanAHIF HNWIT TVACDYo Af)F YD)

(@) a0 aidlnil@d eeislaflal; 830) womdalemo digdlom calouds’ dlgd
@Ry 20903 VOB 1)

(b)  womdalemo digdlam ¢ digoow]l RalcoUllEMIMGTIMBB HEMAHB o (@0

QIO 2)

30 2)®@3 37 A1POWBSB ¢210BIBSEI03 aBOOBIENS S af)ANOTIM DOMOHAYI®)H>.
4 cnpod aflo. (5x4=20)

®oey  @dlegam  avdasigleel @ROD  GH0eMBl  B06E0  AOMIGLAIGE @)l

BHSAN)CAIB)AN HOTRIBB)o BHEMNBNIN)B>.

10 Q)
— AAA—
50
AAAA
10Q
L AAAA—
1 [
< 1
10V

SOMMITLAOG ¢2026M3 af)2QAB CNMBaFINEOHUNTLNSBS BYOHATYBHAV QIO D:.

AC o DC aesl a0g)am@i®m 60Lan@0)dd Dalc@ouslenan). aavadd Sdaf
0Za0@dled AVBHEAS) MBS, BVFal)g CAIOT CandMB:R)o AIOIN)D:.

FY-831 9 P.T.O.



33. Draw the circuit diagram of a RC phase shift oscillator. Write the equation for its

frequency of oscillation.

34. Logic gate is the primary building block of a digital circuit.

Draw the symbol and truth table of an ‘OR’ gate.

35. If 3 resistors each of value 9 Q are connected
(a) in series
(b) in parallel

Calculate the effective resistance in each case.

36. Transformer secondary voltage of a full wave rectifier is V=10 sin (2nft). Calculate

@ Vi (b) Vg4 (c) ripple factor
37. (a) Convertthe decimal number (16),, into binary number. 1)
(b) Draw the symbol, and truth table of an ‘AND’ gate. 3)
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